MNpotepodtnTo NPALEWV

Mpaén Anotéleopa SUuBoAo MAnpodopLkig
Npo6oOeon ABpoloua +
Adaipeson Awdopa -
NoAAarmAacLlacog fvopevo °
Awipeon MnAiko /

1. Na AUOETE TIG aplOUNTIKEC TTOPAOTACELC:

1) 4x3+2 = 11) 2+3x1 = 21) 12-3x2 =
2) 4+3x2 = 12) 5x4-2 = 22) 10:2+3 =
3) 2x5+1 = 13) 12-3x4 = 23) 5x6+8 =
4) 2+5x1 = 14) 3x5-4 = 24) 9-3x5 =
5) 3x2+3 = 15) 8-3x2 = 25) 16+2+6 =
6) 3+2x3 = 16) 4+3x5 = 26) 3x4-8 =
7) 2x3+4 = 17) 8-6x0 = 27) 7-5x2 =
8) 2+3x4 = 18) 2x9+4 = 28) 9+7-4 =
9) 7-2x3 = 19) 6-2x7 = 29) 7-10+2 =
10) 7x2-3 = 20) 6x4-9 = 30) 8x5-7 =



